@ x> 4+4=4x

O x-1)?%=1

@ x2-4x=0

@ x2-2x+1=0

® x(x+3)

0



A 3x2 —4x-2=029 |7} x =

® 40 ® 30

5

2+
3

@ 20

Ao, k 9 gh2?

® 10



y=ax’+bx+c 1HZ7} A 2, 3, 4 AFEHS Gt T W], 4, b, ¢
o] 157} ks Hjo] 2 AL

D a>0,b>0,c>0 @ a>0,b>0,c<0

®a>0,b<0,c<0 @ a<0,b<0,c>0

® a<0.b<0,c<0



DO y=-4x>+4x-8

@ y=4x?-4x+8

®y

—4x2 +4x+ 8

—4x%2 —4x+8

@ vy

Tod



01%01 g& golste] & 126 70 & ol olEolA Ho] Lol
Atk 2 Fof ofdo] 59 o] T b4 ool E A thro] 2
E% %LE—E— 5704 Blste], gl £ 57 & ofglolSolAl HEo]
A Y BE ofgolgolAl Eoit &2 #7127 =t A=
01%101%94 FE?



